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Fifth Semester B.Com. Degree Examination,
October/November 2019

(Non-CBCS — Revised New Scheme)
Commerce

Paper 5.7 — MANAGEMENT ACCOUNTING

Time : 3 Hours| [Max. Marks : 80

Instructions to Candidates : Answers should be written completely either in English or in
Kannada.

SECTION - A/l - &

Answer any TEN of the following sub-questions. Each sub-question carries
2 marks : {10 x 2 = 20)

$UNT CIRIHTTTA By euS-IENVN ov30R. B3 ovS-JI 2 worie
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1. (a) What is Marginal cost? ’ : .0
é e " :!_1'-“- "

©oudd id aorider? { r
f
& Xi
(b) What do you mean by Margin of Safety? {é
g AR08 HoBdemy? i 14
L
(c) State any two objectives of Budgetary control. [

&m.:i-.‘}z.‘!:dﬂbm' Rodiod e alRF)merios H0E) suEeanids) 39,

(d) What is Standard costing?
83, JSu oonvedy?

(¢} What do yvou understand by Variance?
333 DICER aouvedd?

(i What is Material price variance?
Emuzf"’,gaﬁ ue I aon0em)?

(g) Net profit of a firm is 20%. Net profit is Rs. 25,000. Calculate the sales.

soRod Q=Y opyd F@me 20%. &9 o9y gpe. 25,000. Sposksd SIS, somd
LBowh.
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(h) Give the meaning of Ratio Analysis.
SSnn ddrardab egran ek,

(if Name any four applications of funds.

ciRF)mEte Tee, ARk wYdrva) BR0L.

(i Give the meaning of Fund Flow Statement.
0B vod JLlob egr3ay, 39

(k] List any two Income Statement ratios.

umeoh Ftiod o06) JERnndn), St Sna.

(I What is Management Report?
NSreme J0h aoudery?
SECTION - B/ater - @
Answer any THREE of the following. Each question carries 5 marks : (3 x 5 = 15)
SRHTTR S BB euddn. I3 SIS Lodied:
2.  From the following Profit and Loss Account, calculate funds from operation.

Profit and Loss Account

Dr. Cr.
Es. Es.

To Depreciation 2,000 By Gross profit 18,000
To Discount 200 By Profit on sale of plant 7,000
To Loss on sale of machine 300
To Goodwill written off 4,700
To Preliminary expenses

written off 1,000
To Sundry expenses 5,000
To Net profit 11.300

25,000 25,000
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suha eny Bi}:ig ﬁiﬁnjﬁ aedaly d5drdor moimrEos Soses wobdig ﬂ&o&.}ﬁ% Lifole 6]
L3000 :
ey Sy FIE and

Dr. Cr.
g, da.

ASeYrnh 2,000 wk), yIR08 18,000
Asechinmh 200 Wm0 SRoetshor wor way 7,000
odos, Invatibod ud SaFeH 800
Romedy sRd 4,700
008 Db shI 1,000
%38 e 5,000
A= ey 11,300

25,000 25,000

Current ratio 2.5; Quick ratio 1.75; Stock Rs. 75,000. Calculate Networking
capital,
mg a;,mam 2.5 a‘a&i ISP 1.75; 3081 dw. 75,000. ﬂdﬁ%‘ w30 unﬁm#ﬁ#&ﬁoﬁa BB,

The standard cost shows the following details relating to materials needed to
product 1 kg of groundnut oil:

Quantity of groundnut required -3 kg

Price of groundnut - Rs. 2.50 per kg 7 ablERs,

Actual production data: /5 v.:f'ﬁ_kf: Ny -
Production during the month - 1000 kgs :, &

Quantity of materials used - 3500 kes {e" o) B\
Price of groundnut - Rs. 3 per kg g ( v ’f
Calculate: 0 w
(a] Materials cost variance b

(b) Materials price variance

8, 5u 0300 wosneh F¥hmods

1 8.4 3eome o5 Soindien - 3 8.2, Seorm aﬂ%ad;gd
Beorm tiel — o 2.50

F3 30rrt — 1000 2.28.abn evsicarb3ny, 3500 6.2, Beorndd) wYAd. deormnd dw
Wab de. 3 dodd I3 g0

0@ oD
(a) =eaIRANY ;Sza‘ﬂ;% =
(b) =eamind Jd %E‘%ﬁ
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8

ABC Company has earned a profit of Rs. 60,000 during the year 2018-19. If the
marginal cost and selling price of a product are Rs. 16 and Rs. 20 per unit
respectively. Find out the margin of safety.

2018-1909 ABC zo30d ey de. 60,000 1cH3d. & Sodod LRI & warin Smoatd
2ieS da. 16 =3y de. 20 gaomeh w@ O, geso m&oi}ﬁgr_ Forz) LRoWD.

What is Budgetary control? State any three limitations of budgetary control.
e300 Aadod e soudesy? esodya od Aodbos ew RFHERE0A S 03ridwy 9.

SECTION — C/ 251 - 4

Answer any THREE of the following. Each question carries 15 marks :
(3 x 15 = 45)
oIRRERETR Fetd FEN9H eu3th. I3 FE 15 vosnied

The following are the summarises of Balance Sheets of Shanthi Ltd. as at
31= December 2017 and 2018:

Liahilities 2017 2018 Assets 2017 2018
Rs. Rs. Rs. Rs.

Share capital 2,00,000 2,50,000 Land and Buildings 2,000,000 1,90,000
General Reserve 30,000 60,000 Plant 1,50,000 1,74,000
P&LAJc ?D,EDD 30,600 Steck 1,00,000 74,000
Creditors 2.20,000 1,35,200 Debtors 80,000 64,200
Provision for Cash 500 600
Taxation 30,000 35,000 Bank = 8,000

530,000 5,10.800 5,30,000  5,10,800

Additional information:

{a) Depreciation on plant written off is Rs. 14,000 in 2018.

{b) Dividend of Rs. 20,000 was paid during 2018.

(¢) Income tax provision made during the year was Rs. 25,000.

Prepare Fund flow statement and statement showing changes in working capital.
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w2 Bried 2017 2018 eshrisy 2017 2018
deth woaey 2,00,000  2,50,000 %R ) suE 2,00,000 1,90,000
Eﬁnﬁé AICTEL 50,000 60,000 m&sﬁd 1,950,000 1,74,000
emd ﬁ:ﬁﬂ 573 30,500 30,600 =Zosa 1,000,000 74,000
Foare 2,200,000 1,35,200 albedrids 80,000 64,200
20rimen HKLEEE 30,000 gias] 500 600

35,000 E-T%D’ﬁ‘ = 8.000
5,30,000 5,10,800 5,30,000 5,10,800
238 Snbard
(a) mﬁddd Soedd s -'!ﬂﬁﬂi.}aliﬂ, 14,000 Hﬁdﬂ_;d (201809).
(b)  Bn. 20,000r¢a) enER0BN 201808 IS,
(c) 3brimn 2oeidks Enm) o S, SomobmrSoE 0. 25,000 BATIY.
o608 209 ASTrP0R 1Y wOBTYE T4, 308y ID Bews BIAL) IaiR0L.
The sales and profits figures of two years are given below: /f;j mj&&-
Year Sales Profit i N @
Rs. Rs. s abrr ! \ .-‘-_.
2017 240,000 16,000 { :
2018 2,80,000 26,000 fifl iy GRS
Find out: % L
(a) P/V ratio. 1?1
(b} B.E.P. '

Profit when sales are Rs. 3,60,000. LA

(d) Sales required to earn a profit of Rs. 24,000.

(e) Margin of safety in the year 2018.

& $¥50E03 Snvets B3y eyt Snkiobhnl, 20b FEFE, Foweditied dcdaeid

(c]

3B o eyl
o, g,
2017 2,40,000 16,000
2018 280,000 26,000
gom) hRowd
@) o Ipoeis FSPe
(b) RS2 Bomd

()
(d)
(e)

=Rt de. 3,60,000 ’nmmri ridzodods ey .;::ﬁ)‘?
g, 24,000 enyd rdiiesndd Snddemg Snoetl B0
2018d gech o8

=]
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9. From the following information, prepare Balance Sheet.

Net working capital = Rs. 1,40,000
Fixed assets = Rs. 12,60,000
Capital = Rs. 10,00,000
Reserves = Rs. 4,00,000
Current ratio = 24

Liquidity ratio = 16

Inventory turnover (on cost of sales) = 8

Gross profit on sales =  20%

Credit allowed {months) = 1.5

g1 $9NT Ipbiciot wh-watRd dsadadd) Jodndh

R3¢ 190 worTY = gn 1,40,000
40 esynied = dw 12,60,000
woBeY = gn. 10,00,000
QIeTED = dw. 4,00,000
e BP0 = 24

0338 SR = ik

208 IR0k ISNK (SH0sk SuD Soed) = 8

Snvetis Sedd wid), eard = 20%

oang ezb (2orie)) = 1.5

10. The expenses for the budgeted production of 10,000 units in factory are given

below:
Particulars Per unit
Rs.

Materials 35
Labour 12.5
Variable overheads 10
Fixed overheads (Rs. 50000) 5
Variable expenses (direct] 2.5
Selling expenses (10% fixed) 6.5
Distribution expenses (20% fixed) 3.5
Administration expenses (Rs. 25,000) 2.5
Total cost .5

Prepare a flexible budget for the production of 8000 units and 6000 units.
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10000 Zzndn), Sodndien tesnusimt B0, od> BRI dzﬁuﬁ@dgt o §9doE08:S

J30ried 33 abadedt

g,

ded Soegrrivy 35
ieo 508 12.5
130 Soeen ﬁﬂﬂri#a 10
:-‘&d Soeew ;St.iﬁritia (dwa. 50000) 5
W Swrieh (Fed) 2.5
Snoeks Si3rivo (10% 20) 6.5
30 Su[ied (20% 20) 3.5
sEY3 Syrieh (O, 25,000) 2.5
LR L S] 7.9

=

8000 odvenes® sarie 6000 aduedisried FUIEVT BowaTd Lol odam) dodndi.

Define Management Report, Explain in detail the essentials of good report.
SF@e Sobobay, =39, 09, 0. WOT) W 0 STBA ouemn wogndsy HTCTeN DDA

=}



